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Credits: Four

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of trends in 
human evolution.

Demonstrate in-depth understanding of 
trends in human evolution.

Demonstrate comprehensive 
understanding of trends in human 
evolution.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet and 
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Check that this booklet has pages 2 – 12 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.
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14

No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.

















  

 

Low Merit exemplar for 91606 2015 Total score 14 

Q 
Grade 
score 

Annotation 

1 M5 

This question provides good explanations for two of the skeletal features 

supporting bipedalism. If the candidate had added a satisfactory explanation 

for how a third feature supports bipedalism they would have scored an M6. 

2 M5 

The candidate explains the trends shown in the development of the tool 
cultures and the associated progression in the cultural evolution of the 

hominins. The identification of one tool culture is incorrect. The candidate 

makes an attempt at explaining the effect of tools and fire on biological 
evolution. 

3 A4 

The candidate provides sufficient evidence for A4 in this question by 

describing the lifestyles of the hunter/ gatherer and the farmer and also 

describes the farmer as working towards producing a steady food supply.  
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Merit exemplar for 91606 2015 Total score 16 

Q 
Grade 
score 

Annotation 

1 M5 

This question provides good explanations for two of the skeletal features 

supporting bipedalism. If the candidate had added a satisfactory explanation 

for how the third feature supports bipedalism they would have scored an M6. 

2 M6 

The candidate explains the trends shown in the development of the three tool 
cultures and how this shows a progression in the cultural evolution of the 

hominins. In addition the candidate explains the effect of fire on meat to soften 

and .release nutrients. If the candidate had gone on to discuss more in depth 
how this could affect biological evolution an E7 would have been awarded. 

3 M5 

The candidate provides sufficient evidence for M5 in this question by 

explaining 2 cultural trends associated with the change in lifestyle from hunter-

gatherer to agriculture. If further trends were explained the candidate would 
have been awarded an M6. 

 


